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Moderate earthquake strikes England

A moderate earthquake struck parts of southeast England on 28 April 2007, toppling
chimneys from houses and rousing residents from their beds. Several thousand people were left
without power® in Kent County?. One woman suffered minor head and neck injuries.

"It felt as if the whole house was being slid across like a fun-fair ride®," said the woman.

The British Geological Survey said the 4.3-magnitude quake” struck at 8:19 a.m. and was
centered under the English Channel®, about 8.5 miles south of Dover® and near the entrance to the
Channel Tunnel’.

Witnesses said cracks appeared in walls and chimneys collapsed across the county.
Residents said the tremor had lasted for about 10 to 15 seconds.

"l was lying in bed and it felt as if someone had just got up from bed next to me," said
Hendrick van Eck, 27, of Canterbury8 about 60 miles southeast of London. "I then heard the sound
of cracking, and it was getting heavier and heavier®. It felt as if someone was at the end of my bed
hopping up and down."

There are thousands of moderate quakes on this scale around the world each year, but they
are rare in Britain. The April 28 quake was the strongest in Britain since 2002 when a 4.
8-magnitude quake struck the central England city of Birmingham®.

The country's strongest earthquake took place in the North Sea in 1931, measuring 6.1 on
the Richter scale™. British Geological Survey scientist Roger Musson said the quake took place on
28 April in an area that had seen several of the biggest earthquakes ever to strike Britain, including
one in 1580 that caused damage in London and was felt in France'?. Musson predicted that it was
only a matter of time™® before another earthquake struck this part of England. However, people
should not be scared too mush by this prediction, Musson said, as the modern earthquake warning
system of Britain should be able to detect a forthcoming quake and announce it several hours
before it takes place. This would allow time for people to evacuate and reduce damage to the
minimum.
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moderate adj. 45
magnitude n. i, &
topple v. fifs], FE{H
rouse  v. M

tremor n. E3)
hopv. FFiEBkild
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fun-fair n. A3LEE KR

scale n. FEZ

Forthcoming adj. El#KIfGf) evacuate v. Bikl
geological adj. i)

R

1. power: Hi/Jj

2. Kent County: HHRHAR[A T-Je4% 2 2R B 0]

3. It felt as if the whole house was being slid across like a fun-fair ride: ‘& (M=) 25 A\ IR S
HBeiig B 7 WU AS I R B ATl FELETE B . ride S “UF SR B0 AR 1 Ffe 44 5 () 3% 5 2
o asif & W% —FE k7, Bt

He treated me as if | were his son.

(fle s FeanEAd L5+ )

4. the 4.3-magnitude quake: X 4.3 ZiHhiE

5. English Channel: %7 F1Jifg Ik

6. Dover: ZWh/R[JEhs %2R B HE ]

7. Channel Tunnel: #Elf%iE . Channel Tunnel (G % & Chunnel) 2 %4 2y 95 [ 1) iz ik
SeSE

8. Canterbury: IRAFHITHT s 22 2w dl ks,  HRAH 20 iy 8 R SR B S 2 Hb)

9. it was getting heavier and heavier: 124 75 ok ki

10. Birmingham: /THA I [SkE ==tk 1]

11. the Richter scale: H [GREZ 4 . & EHE %5 Charles Francis Richter (1900-1985) 7~ 1935
TR T HUERE R

12. British Geological Survey scientist Roger Musson said the quake took place on 28 April in an
area that had seen several of the biggest earthquakes ever to strike Britain, including one in
1580 that caused damage in London and was felt in France: [ i il By (1) 27 K
Roger Musson i, XK 4 F 28 [ JEE M iz 1 Rb DX iph S 28 52 ok 28 o 0 [l ek 2 1 J LR
KHRE B[R] —H DX, e () — O R A A2 1580 4, TSR HLFR S T 1o, O&
RE BB R I

13. a matter of time: i) {8, 4. It’s not a matter of money (X A& ANER ) 1] . )

%2

1. During the April 28 earthquake, whole England was left without power.
A. Right B. Wrong C. Not mentioned

2. The Channel Tunnel was closed for 10 hours after the earthquake occurred.
A. Right B. Wrong C. Not mentioned

3. It was reported that one lady had got her head and neck injured, but not seriously.
A. Right B. Wrong C. Not mentioned

4.  France and several other European countries sent their medical teams to work side by side
with the British doctors.

A. Right B. Wrong C. Not mentioned

5. The country's strongest earthquake took place in London .in 1580.
A. Right B. Wrong C. Not mentioned

6.  Musson predicted that another earthquake would occur in southeast England sooner or later.

A. Right B. Wrong C. Not mentioned
7. It can be inferred from the passage that England is rarely hit by high magnitude earthquakes.
A. Right B. Wrong C. Not mentioned
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BLBE A A, EE RS T 1931 R AL BARIARE R
SEHTRI, WMEEN B,

6. A B Musson il 7E A% 2= A1 pa iR oK R AR by O RE . X UivE S R SR R
BB AT R IA IR AT o BTt by IR RN 28 A 2L AR e i, X RN I ]
8. T LA St A

7. ARESCRNBUE — U, AEREAE R AR A K 4 FAAAMHGEA LT IR, (2
P S S TR MR DA AR D R A . MR, 1 T DA S HOHERT Y, R R b R AE A
WD ILT .
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Irish Dolphins may have a unique dialect

Irish scientists monitoring dolphins living in a river estuary in the southwest of the country
believe they may have developed a unique dialect to communicate with each other.

The Shannon Dolphin and Wildlife Foundation (SDWF)* has been studying a group of up to
120 bottle-nose dolphins in the River Shannon? using vocalisations collected on a computer in a
cow shed® near the River Shannon.

As part of a research project, student Ronan Hickey digitised and analysed a total of 1,882
whistles from the Irish dolphins and those* from the Welsh dolphins on a computer and separated
them into six fundamental whistle typesand 32 different categories®. Of the categories, he found
most® were used by both sets of dolphins’ -- but eight were only heard from the Irish dolphins.

"We are building up a catalogue of the different whistle types they use and trying to associate
them with behaviour like foraging, resting, socialising and the communications of groups with
calves," project leader Simon Berrow said. "Essentially we are building up what is like a
dictionary of words they use or sounds they make."

Berrow, a marine biologist, said the dolphins' clicks are used to find their way around and
locate prey. The whistles are communications. "They do a whole range of other sounds like barks,
groans and a kind of gunshot,” he said. "The gunshot is an intense pulse of sound. Sperm whales
use it to stun their prey.

"When 1 first heard it | was surprised as I thought sperm whales were the only species who
used it. We can speculate the dolphins are using it for the same reason as the sperm whales,"
Berrow said.
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References® in local legend indicate there have been dolphins in the Shannon estuary for
generations and they may even have been resident there as far back as the 6th century®.

They are regularly seen by passengers on the Shannon ferry and an estimated 25,000 tourists
every year take special sightseeing tours on local boats to visit them.

AL

Irish adj. % /K=%:11
socialise v. #E38, A1E
Dolphin  n.#FfiK
bottle-nose dolphin 5% Vi iK
sperm whale [ 3k fiij
click n. TRmARS, W
estuary n. Ji[[, VI
vocalisation n. A
shed n. /NE,
digitalise v. {f% 71k
whistle n. Wi

forage v. 5 (&Y
prey n. #AEzh)
gunshot n. S
groan n. My, ILEL

pulse n. ik
stun v. HE
TR

1. The Shannon Dolphin and Wildlife Foundation (SDWF): 74 i K 5 B 4= 2B Mk 4 2> .

2. the Shannon River: FFARI[[ A7 % /K == HFN [ (1) 7 75 ]

3. cow shed: Z-#li

4. those FRALHT-FUM whistles.

5. Ronan Hickey...separated them into six fundamental whistle types and 32 different
categories:  Ronan Hickey it 75 k14 h 6 K35 32 Fh

6. most = most categories

7. both sets of dolphins s&45 the Irish dolphins F1 the Welsh dolphins.

8. References in local legend:: 4#bA% i3t (14 <%

9. they may even have been resident there as far back as the 6th century: KTl 8 5.4 A G 6
T AE R AR T VAR B, resident JEEZE, RUERE CSRAEM7.

2.

1. The difference in eating habits between the bottle-nose dolphins and the sperm whales
interested the SDWF scientists.

A. Right B. Wrong C. Not mentioned

2. Ronan Hickey analysed almost 2000 different dialects of the bottle-nose dolphins. .
A. Right B. Wrong C. Not mentioned

3. Of the 32 categories, eight were produced only by the Irish dolphins.
A. Right B. Wrong C. Not mentioned

4. Whistles could also be used to communicate between adult dolphins and baby dolphins.

A. Right B. Wrong C. Not mentioned
5. Sperm whales can produce stronger ultrasonic waves to kill their prey than dolphins.
A. Right B. Wrong C. Not mentioned
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6. As early as the 6th century, Irish fishermen started raising dolphins in the Shannon estuary.

A. Right B. Wrong C. Not mentioned

7. lIrish dolphins attract tourists and over 25,000 people come to see them every year.
A. Right B. Wrong C. Not mentioned

ERE B
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WA RIEFI N ERL P ERAR], MEZEN C.

2. Bl g Ronan Hickey 707 T 22 /K 22Kk H ()3 2000 FPAN [R5 5 o X6
SR SRR R BT . 5= BR—AJit:  Ronan Hickey 43 HT T 5% JR 22 IE IR g K
K (AR 52 2R 223K K T 2000 FPAS [H] FRIWH 75 (AN 2 5 5) . BTRL, Ak B
REE,

3. A B RIA RS 5 =B A TR I N AT . 32 B A 8 iU R IR I
HiM. FTEZRE A.

4, AR SCER DY BEES — R BRF2E B AE B 75 53 K AT A Re PR R Rkl ke, L rp A 45
SRR S N IR 2 T B X —AT Mo A R S IR A R EAIERF, TS A
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B,
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Compact Disks

1 If someone says to you your music CDs don't really hold any music on them, and they only
have numbers recorded on them, you may not believe it. In fact, he is right in that sound is
actually recorded onto the CDs as special numbers - a digital codel. The code is pressed onto
the CD as bumps on a long spiral track almost five kilometers long. These bumps are an
average of 0.5 microns wide

2 A small laser beam shines onto the bumps as the CD turns. The light is reflected back to a
receiver that records how the laser light bounces back. This lets the CD player2 turn the
reflected light back into the original code. This means you can hear the original code as music.

3 Digital codes are used with many technologies. E-mail needs these kinds of code numbers.
Space probes communicate with their ground station on earth using digital codes. Bar codes
are read as digital codes in computer systems. Digital communications with cell phones need
digital codes. Weather radios also tune in to specific signals using these codes.

4 There are many types of compact disks. One format is called CD-RWSs. They can be recorded
on and re-recorded on (rewritten on) as you would do with a floppy disk3. Another format is
the CD-ROM. The technology for recording on these disks is different from other CDs. These
CDs have a dye layer that the CD writer can darken or leave clear. The clear and dark spots are
the digital code. CD-ROM stands for Compact Disc - Read Only Memory4. This disk is like a
"super" floppy disk that can hold lots of information. One CD-ROM can hold the same amount
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of data as 500 floppy disks. Information is permanently recorded onto it. Computer games
and other programs are considered to be CD-ROMs.

5 CDs were first sold to the public in 1982. These CDs still play well and sound fine. Current
CDs are expected to last between 70 to 200 years. Of course, you can make sure your CDs last
a long time by taking care of them.

6 Science keeps on developing. It may not be many more years before a completely new
technology is invented5 and introduced to the public for music recording. In the meantime,
there is no doubt you will continue to enjoy listening to your favorite music on CDs6 and
playing your favorite computer games on CD-ROMs.

i
bump n. BB, B
floppy disk % (G A%
spiral adj. MZHEEH
format n. #%z(
probe n. R #s
dye n. Zu{f,
floppy adj. A%k
permanently adv. 7K A 3

TR
1. he is right in that sound is actually recorded onto the CDs as special numbers - a digital
code: i FIXS, PAI SEbr b LRFRR B 1B, BIERY, ZI5%4E CD i)y Lo
inthat & "BIA", .
Water is essential in that without it all living things would die.
OKREHEAZZ, BIEATK, i BT
2. CD player: CD #&j#L
. as you would do with a floppy disk: 5t % /548 1 4t 48— K¢
4. CD-ROM stands for Compact Disc - Read Only Memory: CD-ROM j& Compact Disc -
Read Only Memory 1% 11/ 1 - BRI 411 46 5 1Al o
5. It may not be many more years before a completely new technology is invented: A T JL
F, YAE XS KM AR . many more years & " iFZ 4"
6. "there is no doubt you will continue to enjoy listening to your favorite music on CDs" &
W BT LLERf# A “there is no doubt (about the fact that) you will continue to enjoy
listening to your favorite music on CDs".

w

4>

1. Paragraphs 1 & 2

2. Paragraph 3

3. Paragraph 4

4. Paragraph 5

Digital code has wide applications.
Floppy disks are outdated.

CDs are durable.

CD's working principle is explained.
CD-RWs play better than CD-ROMs.
CDs are of many formats.

mTmooOw >

5. One advantage of CD-RWs is that they can like floppy disks.
6. The author predicts it will not before a new technology is invented for
music recording.
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7. The laser beam-emitting device and the receiver are considered to of aCD
player.
8.  Space probes could not without using digital codes.
A shine on bumps
B take many more years
C be the key parts
D restore the original code
E  be written on and rewritten on
F  keep contact with their ground station efficiently

LR 5

1. D #H— ZBA9T CD M LAERE. &S ez CD ity F. 2
[FIWr 5%, wifSH CD JE ML, CD HLAHBOGHYS CD, B4t A CD &

SRIRIEOGE, I JE A R E S, PR ok A . BT, D 2%

A =B -—f{"Digital codes are used with many technologies.") #&::fif], A&

BOL e )R gt EE, RS AU EEBI2E T 5 AN FlB . RIS, 4.

THM RS TR . BT A [ Digital code has wide applications" 5 = 8 f1) () & 5 4

Wi, TR,

3. F #DUB%—Hf) ("There are many types of compact disks"} & 1= @i ). A B H e )
FHEET WK CD kX (format) , —#& CD-RW, 5 —#& CD-ROM.
TG F [£)"CDs are of many formats"#t#5 7 AB K, BEZ.

4. C EFILBLULIIE CD BEA LA, 1982 4 Lilift) CD i EAEREM A, Hoayr
FRIH. BIE LT CD, SN e, WS, HAFdrnlik 70—200 4F. ik
i C T durable T LAREFE ARG, FrLL, C %%

5. E BPUBP I CD-RW iXAMA, /48 T They can be recorded on and re-recorded
on (rewrittenon). XHiAiE E k.

6. B NBREHRBISERZA AN, Bl It may not be many more years before a
completely new technology is invented and introduced to the public for music recording.

7. C B BULEIE CD ML ik R O AR EE 1) 72 WO AR e B AR R o U TRAT
Al DAHER O E R S s Iy 2 CD ML E 2. BTl C 2& %,

8. F = B% —f] ("Space probes communicate with their ground station on earth using
digital codes™) J&i% F [R5 H

n
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The Tiniest Electric Motor in the World

1. Scientists recently made public the tiniest electric motor everl built. You could stuff hundreds
of them into the period at the end of this sentence. One day a similar engine might power a
tiny mechanical doctor that would travel through your body to remove your disease.

2. The motor works by shuffling atoms between two molten metal droplets in a carbon nanotube.
One droplet is even smaller than the other. When a small electric current is applied to the
droplets, atoms slowly get out of the larger droplet and join the smaller one. The small
droplet grows - but never gets as big as the other droplet - and eventually bumps into the
large droplet. As they touch, the large droplet rapidly sops up the atoms it had previously lost.
This quick shift in energy produces a power stroke2.

3. The technique exploits the fact that surface tension -- the tendency of atoms or molecules to
resist separating -- becomes more important at small scales3. Surface tension is the same
thing that allows some insects to walk on water.

4. Although the amount of energy produced is small -- 20 microwatts -- it is quite impressive in
relation to the tiny scale of the motor4. The whole setup5 is less than 200 nanometers on a
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side, or hundreds of times smaller than the width of a human hair. If it could be scaled up to
the size of an automobile engine6, it would be 100 million times more powerful than a
Toyota Camry's 225 horsepower V6 engine.

5. In 1988, Professor Richard Muller and colleagues made the first operating micromotor, which
was 100 microns across7, or about the thickness of a human hair. In 2003, Zettl's group
created the first nanoscale motor. In 2006, they built a nanoconveyor, which moves tiny
particles along like cars in a factory.

6. Nanotechnology engineers try to mimic nature, building things atom-by-atom. Among other
things, nanomotors could be used in optical circuits to redirect light, a process called optical
switching. Futurists envision a day when nanomachines, powered by nanomotors, travel
inside yur body to find disease and repair damaged cells.

W
shuffle v. Sk[FiE3)
nanometer n. 44K, =Rk
molten adj. ¥4k
micromotor n. #HLHL
droplet n. /N
nanotube n. 2k
nanoconveyor n. ZKALi%5
nanotechnology n. 44K+ AR
bump v. fiff
mimic v. #i{jj
sopv. LN
stroke n. 17HE, i
microwatt n. {3 kU
nanomotor n. 44K K EhHL
nanomachine n. KA1 7%

basy B
1. ever: HLUIEARATHf, $928. 4.
This is the best book | have ever read.
(& el i P e i 1) — A )
2. power stroke: 47 FE
at small scales: fE/N%2k b XHIRME "EGKER L.
4. itis quite impressive in relation to the tiny scale of the motor: 5 HL LI /N EH AT L,
DERSEAY AW T o inrelation to &5« AH EL". 21
The city is quite large in relation to its population.
GRS, XA KD
5. setup: F¢E. 1XHL¥E nanomotor.
6. Ifit could be scaled up to the size of an automobile engine: & 544K BB AE 1 LL A
KRB R VLIRS o scales--up to A& "FMeee e 37 HLAG TR F] -0,
7. across: M\ Fl ) — i

w

%2

Paragraph 2

Paragraph 4

Paragraph 5

Paragraph 6

A Anintroduction of a Toyota's 225 horsepower V6 engine.
B A description of the nanomotor in terms of power and size.

PP
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Surface tension.

Previous inventions of nanoscale products.

The working principle of the nanomotor.

Possible fields of application in the future.

Doctors envision that the nanomotor would travel through human bodies to

Mmoo

Surface tension means the tendency of atoms or molecules to
Nanoconveyors could be used.to .

Applying a small electric current causes atoms to

remove disease

resist separating

shuffle between two molten metal droplets

power nanomachines

sop up molecules from the large droplet

transport nanoscale objects

mmooOw>»

ERE -

1.

E BN TR TAERIE . Py &R a0l Eriss i, K7
W Rttt , MA/NR/NE, EEEBRARIGE R, 2B, MiasS
R RERE, X, R/ NREELF RS R 2R, X2 —IK power stroke (3] 7]
TR, Bprhid), eIt = ARSI D). R intbkok 2 21230, w4 k)
POEZE—FF . XK TAEREE . Jrbh, E 2% %K.

B EEDUBINIR TULKRENMLIIIZE (20 fFL)  FIMRRBL (200 442K). &I B H
"A description of the nanomotor in terms of power and size" W5 A B, RUERM, T
L, B %%

D BHBANAH T KGRI — SR SER U™ i, an AR R — 28
MK KENHL, R BINL, EKAEIEalr, GOKPLESSE. &0 D M 7 ABRIK
B, RS %

FoSB/NBOPUAE Tk R IHL R IE, an Tk A ei Jr 1) C(redirect light)
RIS PR ALAS BEN AN, W KOk LI F 2% %, K4 "Possible fields of
application in the future™ MERG T A B K& .

A BEE AT HIL doctors envision, I[N AN S EFAG I, EIT A 2
remove disease, 1ELfF5ET A AANC, 2EE. HOCE—BOERG—BARig g
KR BIHBEAN NARTE KL BT BerE, UEM] TiE A 2 IEWHIR .

B %k B Rk &5 —BLSE—%) “surface tension -- the tendency of atoms or molecules
to resist separating -- becomes more important at small scales".

F 811 nanoconveyor $27n AT, AIKALLAT D) fE H IR &AL IL QUK ZEL 1Y)
&, L, F X

C @TH Applying asmall electric current--- /£ 55 Bt e dk 3, iZEUFHI 2K K 5)
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1. Electric Backpack (C k)

(B 2007 4E AP 3 T K00 3B 45 — 5 Will Quality Eat up the US Lead in Software? )
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Backpacks are convenient. They can hold your books, your lunch, and a change of clothes,
leaving your hands free to do other things. Someday, if you don’t mind carrying a heavy load, your
backpacks might also power your MP3" player, keep your cell phone running, and maybe even
light your way home.

Lawrence C. Rome and his colleagues from the University of Pennsylvania in Philadelphia®
and the Marine Biological Laboratory in Woods Hole®, Mass. ¢, have invented a backpack that
makes electricity from energy produced while its wearer walks. In military actions,
search-and-rescue operations, and scientific field studies, people rely increasingly on cell phones,
global positioning system (GPS)® receivers, night-vision goggles, and other battery-powered
devices to get around and do their work.. The backpack’s electricity-generating feature could
dramatically reduce the amount of a wearer’s load now devoted to spare batteries, report Rome
and his colleagues in the Sept. 9 Science®.

The backpack’s electricity-creating powers depend on springs used to hang a cloth pack from
its metal frame. The frame sits against the wearer’s back, and the whole pack moves up and down
as the person walks. A gear mechanism converts vertical movements of the pack to rotary motions
of an electrical generator, producing up to 7.4 watts.

Unexpectedly, tests showed that wearers of the new backpack alter their gaits in response to
the pack’s oscillations, so that they carry loads more comfortably and with less effort than they do
ordinary backpacks. Because of that surprising advantage, Rome plans to commercialize both
electric and non-electric versions of the backpack.

The backpack could be especially useful for soldiers, scientists, mountaineers, and
emergency workers who typically carry heavy backpacks. For the rest of us, power-generating
backpacks could make it possible to walk, play video games, watch TV, and listen to music, all at
the same time. Electricity-generating packs aren’t on the market yet, but if you do get one
eventually, just make sure to look both ways before crossing the street!

AL
backpack n.75 {1
watt n. L (HF)
receiver n. AL
gaitn. &, Pk
night-vision goggle 7 #4%
oscillation n. 2%/
spring n. R
commercialize v. #MkAk
vertical adj. T E )
mountaineer n. & 111323 i
rotary adj. FEFE ()

R

1. MP3 : Internet & iiATHIE RAga, ST 1987 48 E — K A F 1 EU147 27
v R, &R MPEGAudioLayer3 [IHIA, 475 & SO 1 0 12 24 (R R 4 2 1 45,
AR PR /N AR SO, A AR SRS AT SE O R EE, SR ELIRC P e R AR
WEIN NI HHL
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Philadelphia: %% 3k[ 35 E 72 472 J6 WM - F s 1T ]

Woods Hole: 5 [F T 515 J€ M (1) — /N A, 102 VF 2 BTSN BT ZE L, 41 the Marine
Biological Laboratory, the Sea Education Association LA A the Woods Hole Oceanographic
Institution,

Mass.: Massachusetts )45 : =i ZEM, 56 EZALERIK— M.

global positioning system (GPS):  4Bk:E 7 K40

Science: JE[H K] Science Z4ii b [HBr A HARBIE LG REAIMT], Rt F2AR T
FARE . Science AR GITI T 1880 4, 1%k HATH I A & FN A AT R WU AL
Ak JA 63 e THE 555 M R AT AT SRR E SRR BUR I EEOFT I A6, 38 R R A BRBHT TR
0 ST TR SCRIR T

%

1.

Backpacks are convenient because

A) they can be very large

B) they can hold as many things as you want to carry.

C) your hands are freed to do other things.

D) you do not have to carry things with you.
What is the most important feature of the backpack invented by Lawrence C. Rome and his
colleagues?

A) It produces electricity for electronic devices while the wearer walks.

B) It can be used as  cell phones, GPS in the military actions or field studies.

C) It is small and convenient.

D) It is light and easy to carry.
The word “springs” in Paragraph 3 means

A) a small stream of water flowing naturally from the earth.

B) the season of the year, occurring between winter and summer.

C) the act or an instance of jumping or leaping.

D) a length of metal wound around, which returns to its original shape after being pushed.
According to Paragraph 4, what does Rome plan to do?

A) To make the backpack more comfortable for the wearer.

B) To put the backpack on the market.

C) To test the advantage of the backpack.

D) To promote the backpack in a newspaper or on television.
What is implied in “if you do get one eventually, just make sure to look both ways before
crossing the street!”

A) You will be too excited to watch the traffic.

B) Enjoying electronic devices while walking may invite traffic accidents.

C) It is not possible for you to get such a backpack.

D) It is wise of you to have such a backpack.

EREEE:

1.

2.

C A BUhURIAT, BN ] LLREVF 22 2K 04, i AT DURE XTI S A e ot -
to free your hands to do other things.

A BB, Lawrence C. Rome MIL[FEZFHATRHXMEA, Y EEM


http://www.mbl.edu/
http://www.mbl.edu/
http://www.sea.edu/
http://www.whoi.edu/
http://www.whoi.edu/

MADE BY BOBEER QQ:45964033

ERET, SE AR A ZBEE A VRRAT, SRR A A E
DRI A AN 485 7 46 FH FLth

3. D “springs”fE ML HE AL spring 2 NE S JRAK (AL FR (B). BBk
(C).

4. B HIBHRG—AIMEEJE: Rome tHRIK XA Wrglik, BI, #Emiidg. AL C.
D 7ESC R E]. D e N M .

5. B REXMATMFEELS: WRRA TR A, o SR — e SN A
Fo WU, ANEE YR BUETR Wi &R BAE BN, KNEEUSURE ROk
BT .

2. Flying the Hyper* Skies (C 2%)
(B ¥ 2007 4EF P53 TR LM B /SR Live with Computer)

A little airplane has given new meaning to the term “going hyper.”

The Hyper-X? recently broke the record for air-breathing jet planes when it traveled at a
hypersonic speed of seven times the speed of sound. That’s about 5,000 miles per hour. At this
speed, you’d get around the world — flying along the equator — in less than 5 hours.

The hyper-X is an unmanned, experimental aircraft just 12 feet long. It achieves hypersonic
speed using a special sort of engine known as a scramjet®. It may sound like something from a
comic book, but engineers have been experimenting with scramjets since the 1960s.

For an engine to burn fuel and produce energy, it needs oxygen. A jet engine, like those on
passenger airplanes, gets oxygen from the air. A rocket engine typically goes faster but has to carry
its own supply of oxygen. A scramjet engine goes as fast as a rocket, but it doesn’t have to carry
its own oxygen supply.

A scramjet’s special design allows it to obtain oxygen from the air that flows through the
engine. And it does so without letting the fast-moving air put out the combustion flames. However,
a scramjet engine works properly only at speeds greater than five times the speed of sound.

A booster rocket carried the Hyper-X to an altitude of about 100,000 feet for its test flight.
The aircraft’s record-beating flight lasted just 11 seconds. Although the little plane’s self-powered
flight lasted only 11 seconds, that brief journey on March 27 makes a major milestone on the way
to a new breed of very fast airplanes, comments Werner J. A. Dahm of the University of Michigan
in Ann Arbor®. In the future, engineers predict, airplanes equipped with scramjet engines could
transport cargo quickly and cheaply to the brink of space. Such hypersonic jets could potentially
carry passengers anywhere in the world in just a few hours.

Out of the three experimental Hyper-X aircrafts built for NASA®, only one is now left. The
agency has plans for another 11-second hypersonic flight, this time at 10 times the speed of the
sound.

A
hypersonic adj. & # 1)
booster n. BhfE#s
equator n. FRiE
milestone n. HLFE
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unmanned adj. 75 A

booster rocket Btk i

scramjet n. B EE AL L, R EHL
cargo n. %)

combustion n. #AK¢  brink n. 4%
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NASA: ;& National Aeronautics and Space Administration (455, # 3C¥42: (32H)
FRLE R T AT R

453:

1.

The Hyper X broke the record because

A) It was the first air-breathing jet plane.

B) It flew along the equator.

C) It flew at speeds smaller than five times the speed of sound.

D) It traveled at a supersonic speed.
What kind of an engine did the Hyper X use?

A) A jet engine that gets oxygen from the air.

B) A scramjet engine that doesn’t carry its own oxygen supply.

C) A rocket engine that carries its own supply of oxygen.

D) A jet engine that uses no oxygen.
What is NOT true about the scramjet engine?

A) It goes slower than a rocket.

B) It extracts oxygen from the air that flows through the engine.

C) It works only at speeds greater than five times the speed of sound.

D) It doesn’t carry its own oxygen supply.
What did Werner J. A. Dahm of the University of Michigan say about the Hyper X test flight?
A) It indicated the birth of a very fast airplane.

B) It was self-powered, so it lasted only 11 seconds.

C) It can transport cargo quickly and cheaply to the brink of space

D) It is a major milestone in the journey of making a new type of very fast airplanes
What has NASA planned to do?

A) To make another 11-second hypersonic flight at 10 times the speed of the sound.
B) To make three more Hyper X experiments.

C) To retest the aircraft that is left.
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D) To make the aircraft fly higher and longer.
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8.. Explorer of the Extreme Deep (C 2&)
CErff 2007 48 -3 TR P 3R B 58 — 1. Hacking )

Oceans cover more than two-thirds of our planet. Yet, just a small fraction of the underwater
world has been explored. Now, Scientists at the Woods Hole® Oceanographic Institution (WHOI)
in Massachusetts are building an underwater vehicle that will carry explorers as deep as 6,500
meters (21,320 feet). The new machine, known as a manned submersible or human-operated
vehicle (HOV), will replace another one named Alvin?which has an amazing record of discovery,
playing a key role in various important and famous undersea expeditions. Alvin has been operating
for 40 years but can go down only 4,500 meters (14,784 feet). It’s about time for an upgrade,
WHOI researchers say.

Alvin was launched in 1964. Since then, Alvin has worked between 200 and 250 days a year,
says Daniel Fornari, a marine geologist and director of the Deep Ocean Exploration Institute at
WHOI. During its lifetime, Alvin has carried some 12,000 people on a total of more than 3,000
dives.

A newer, better versions of Alvin is bound to reveal even more surprises about a world that is
still full of mysteries, Fornari says. It might also make the job of exploration a little easier. “We
take so much for granted on land,” Fornari says. “We can walk around and see with our eyes how
big things are. We can see colors, special arrangements.”

Size-wise, the new HOV will be similar to Alvin. It’ll be about 37 feet long. The setting area
inside will be a small sphere, about 8 feet wide, like Alvin, it’ll carry a pilot and two passengers.
It will be just as maneuverable. In most other ways, it will give passengers more opportunities to
enjoy the view, for one thing. Alvin has only three windows, the new vehicle will have five, with
more overlap so that the passengers and the pilot can see the same thing.

Alvin can go up and down at a rate of 30 meters every second, and its maximum speed is 2
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knots (about 2.3 miles per hour), while the new vehicle will be able to ascend and descend at 44
meters per second. It’ll reach speeds of 3 knots, or 3.5 miles per hour. (361 words)

A
fraction n. —#B4> dive v. & n. K, Bk
underwater adj. 7K F[J; adv. 7E7KF
bound adj. ZZZIWIH, —EM
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undersea adj. )X
maneuverable adj. HL&)H1, RIEENIT
submersible n. ¥, K2R
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1. Woods Hole: 3¢ [E & 51 Z& )N 1K) — MRt (EIR] AT VF 2 20T, Qe the Marine
Biological Laboratory, the Sea Education Association LA A the Woods Hole Oceanographic
Institution.

2. Alvin: HEFEEE-—NEREIEKSS, B A RIS 1986 4] 230 Jé vt 5 ik B
(R A

#:3]:
1. Whatis Alvin?
A) A research institute.
B) A transporting vehicle.
C) A submersible.
D) A scientist.
2. Which of the following statements is NOT a fact about Alvin?
A) It can carry explorers as deep as 6,500 meters.
B) It has played a key role in various important undersea expeditions
C) It was launched in the sixties of the twentieth century.
D) It has been used for more than 40 years.
... aworld that is still full of mysteries” refers to
A) The earth.
B) Out space.
C) The ocean.
D) Mars.
4. In what aspects are the new HOV and Alvin similar?
A) Size.
B) Speed.
C) Capacity.

w
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D) Shape.
5. In what aspects are the new HOV and Alvin different?
A) Offering better views.
B) Speed.
C) Size.
D) Both A and B.
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9. Plant Gas (C Z)
(B ¥ 2007 SE A PR TR MM —+—%: The Gene Industry)

Scientists have been studying natural sources of methane for decades but hadn’t regarded
plants as a producer, notes Frank Keppler, a geochemist at the Max Planck Institute for Nuclear
Physics in Heldelberg, Germany®. Now Keppler and his colleagues find that plants, from grasses
to trees, may also be sources of the greenhouse gas. This is really surprising, because most
scientists assumed that methane production requires an oxygen-free environment.

Previously, researchers had thought that it was impossible for plants to make significant
amounts of the gas. They had assumed that microbes? need to be in environments without oxygen
to produce methane. Methane is a greenhouse gas, like carbon dioxide. Gases such as methane and
carbon dioxide trap heat in Earth’s atmosphere and contribute to global warming.

In its experiments, Keppler’s team used sealed chambers that contained the same
concentration of oxygen that Earth’s atmosphere has. They measured the amounts of methane that
were released by both living plants and dried plant material, such as fallen leaves.

With the dried plants, the researchers took measurement at temperatures ranging from 30
degrees Celsius to 70 degrees C. At 30 degrees C, they found, a gram of dried plant material
released up to 3 nanograms of methane per hour. (One nanogram is a billionth of a gram.) With
every 10-degree rise in temperature, the amount of methane released each hour roughly doubled.

Living plants growing at their normal temperatures released as much as 370 nanograms of
methane per gram of plant tissue per hour. Methane emissions tripled when living and dead plant
was exposed to sunlight.

Because there was plenty of oxygen available, it’s unlikely that the types of bacteria that
normally make methane were involved. Experiments on plants that were grown in water rather
than soil also resulted in methane emissions. That’s another strong sign that the gas came from the
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plants and not soil microbes.

The new finding is an “interesting observation,” says Jennifer Y. King, a biogeochemist at the
University of Minnesota in St. Paul®. Because some types of soil microbes consume methane, they
may prevent plant-produced methane from reaching the atmosphere. Field tests will be needed to
assess the plant’s influence, she notes. (367 words)
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methane n. H%¢, ¥HA
emission n. #UA, K4
geochemist n. HER{LZES
triple v. ¥9I0=f%; adj. =f)
Celsius n & adj. #%IK (H))
bacterian. (bacterium K10 4%
microbe n. #EH)
nanogram n. {5
Biogeochemist n./E4 b ER 1k 22 5
chamber n. %, Jylil; &
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1. What was scientists’ understanding of methane?
A) It was produced from plants.
B) It was not a greenhouse gas.
C) It was produced in oxygen-free environments.
D) It traps more heat than any other greenhouse gas.
2. To test whether plants are a source of methane, the scientists created
A) a oxygen-free environment.
B) an environment with the same concentration of oxygen as the Earth has.
C) a carbon dioxide-free environment.
D) an environment filled with the greenhouse gas
3 Which statement is true of the methane emissions of plants in the experiment?
A) The lower the temperature, the higher the amount of methane emissions.
B) Living plants release less methane than dried plants at the same temperature.
C) When exposed to sunlight, plants stop releasing methane.
D) The higher the temperature, the greater the amount of methane emissions.
4. What of the following about methane is Not mentioned in the passage ?
A) Plants growing in soil release methane.
B) Plants growing in water release methane.
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C) Soil microbes consume methane.
D) Microbes in plants produce methane.
5. What is the beneficial point of some microbes consuming plant-produced methane?
A) Methane becomes less poisonous.
B) methane is turned into a fertilizer.
C) Less methane reaches the atmosphere.
D) Air becomes cleaner..
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10. Smart Window (B Z&%)
(¥ 2007 SFH B TRFEHME=T=H: Star Quality)

Windows not only let light in to cut down an electricity use for lighting, but the light coming
through the window also provides heat. However, windows are not something people typically
associate with being a cutting edge’ technology. Researchers are now working on new
technologies that enable a window to quickly change from clear to dark and anywhere in between
with a flip of a switch?.

“It took us a long time to figure out what a window really is,” says Claes Grangvist. He’s a
professor of solid-state physics at Uppsala University in Sweden®. “It’s contact with the outside
world. You have to have visual contact with the surrounding world to feel well.” So, windows and
natural light are important for improving the way people feel when they’re stuck indoors.

Yet, windows are the weak link in a building when it comes to energy and temperature
control. In the winter, cold air leaks in. When it’s hot and sunny, sunlight streams in. All of this
sunlight carries lots of heat and energy. And all of this extra heat forces people to turn on their air
conditioners. Producing blasts of cold air, which can feel so refreshing, actually suck up enormous
amounts of electricity in buildings around the world.

Windows have been a major focus of energy research for a long time. Over the years,
scientists have come up with a variety of strategies for coating, glazing, and layering windows to
make them more energy efficient. Smart windows go a step further. They use chromogenic
technologies which involve changes of color.
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Electrochromic windows use electricity to change color. For example, a sheet of glass coated
with thin layers of chemical compound such as tungsten oxide works a bit like a battery. Tungsten
oxide is clear when an electric charge is applied and dark when the charge is removed, that is,
when the amount of voltage is decreased, the window darkens until it’s completely dark after all
electricity is taken away. So applying a voltage determines whether the window looks clear or
dark.

One important feature that makes a smart window so smart is that it has a sort of “memory.”
All it takes is a small jolt of voltage to turn the window from one state to the other. Then, it stays
that way. Transitions take anywhere from 10 seconds to a few minutes, depending on the size of
the window. The development of smart windows could mean that massive air conditioning
systems may no longer need. “In the future,” Granqvist says, “our buildings may look different.

AL
flipn. & v. HF4REH, &
tungsten oxide 4&1k%%
air conditioner =1 (#%)
joltn. & v. FEFE, M, 53)
refreshing adj. 1 A3 211
electrochromic adj. FHLEAZ (411
glaze v. %EHHs, H A o
voltage n. HiJ&
chromogenic adj. & a1
air conditioning =i, ALK
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1. Which of the following statements does not indicate the importance of windows as described
in the first two paragraphs?
A) Windows can change from clear to dark to save energy.
B) Windows help to save energy by letting light in.
C) Windows help to save energy by providing heat.
D) Windows enable people to have contact with the outside world.
2. When are windows the weak link in a building?
A) In the cold winter.
B) In the hot summer.
C) When air conditioners are turned on.
D) Both Aand B.
3. What are smart windows, according to Paragraph 4?
A) Windows that are coated.



MADE BY BOBEER QQ:45964033

B) Windows that are glazed.
C) Windows the color of which can be changed.
D) Windows that have many layers.
4. To make electrochromic windows change color, what is applied to the window glass?
A) Electricity.
B) Tungsten oxide.
C) A battery.
D) A voltage.
5. What will be the benefit if the research on smart windows turns out to be successful,
according to the last paragraph?
A) The buildings will look different.
B) Windows can be as large as you want.
C) We may not need air conditioners any more.
D) They are less expensive than traditional windows.
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11. Where Have All the Bees Gone? (B 2%)
(B 2007 SE P TR YEHME=1T.5: Single-parent Kids Do Best)

Scientists who study insects have a real mystery on their hands. All across the country,
honeybees are leaving their hives and never returning. Researchers call this phenomenon
colony-collapse disorder. According to surveys of beekeepers across the country, 25 to 40 percent
of the honeybees in the United States have vanished from their hives since last fall. So far, no one
can explain why.

Colony collapse is a serious concern because bees play an important role in the production of
about one-third of the foods we eat. As they feed, honeybees spread pollen from flower to flower.
Without this process, a plant can’t produce seeds or fruits.

Now, a group of scientists and beekeepers have teamed up to try to figure out what’s causing
the alarming collapse of so many colonies. By sharing their expertise in honeybee behavior, health,
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and nutrition, team members hope to find out what’s contributing to the decline and to prevent bee
disappearances in the future.

It could be that disease is causing the disappearance of the bees. To explore that possibility,
Jay Evans, a researcher at the United States Department of Agriculture (USDA) Bee Research
Laboratory?, examines bees taken from colonies that are collapsing. “We know what s healthy bee
should look like on the inside, and we can look for physical signs of disease,” he says. And bees
from collapsing colonies don’t look very healthy. “Their stomachs are worn down, compared to
the stomachs of healthy bees,” Evans says. It may be that a parasite is damaging the bees’
digestive organs. Their immune systems may not be working as they should. Moreover, they have
high levels of bacteria inside their bodies.

Another cause of colony-collapse disorder may be certain chemicals that farmers apply to kill
unwanted insects on crops, says Jerry Hayes, chief bee inspector for the Florida Department of
Agriculture®. Some studies, he says, suggest that a certain type of insecticide affects the
honeybee’s nervous system (which includes the brain) and memory. “It seems like honeybees are
going out and getting confused about where to go and what to do,” he says.

If it turns out that a disease is contributing to colony collapse, bees’ genes could explain why
some colonies have collapsed and others have not. In any group of bees there are many different
kinds of genes. The more different genes a group has, the higher the group’s genetic diversity. So
far scientists haven’t determined the role of genetic diversity in colony collapse, but it’s a
promising theory, says Evans.
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1. What is the mystery that researchers find hard to explain?
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A) Honeybees are flying all across the country.
B) 25-40 percent of the honeybees in the US have died.
C) Honeybees are leaving their hives and do not return.
D) Honeybee hives are in disorder.
2. Why are researchers seriously concerned with the phenomenon of colony-collapse disorder?
A) Because honeybees produce one-third of the foods we eat
B) Because honeybees feed on flowers.
C) Because honeybees eat seeds of flowers.
D) Both B and C.
3. What are the possible causes of colony-collapse disorder given by the scientists?
A) Worsening environment.
B) Disease and chemicals.
C) Dwindling number of flowers around.
D) Changes in genes’ structures.
4. According to the fifth paragraph, which of the following about bees’ genes is true?
A) Bees’ genes allow them to expand their colonies.
B) Bees genes help keep them in their hives.
C) Bees genes make them fly from flower to flower.
D) Bees genes could explain the collapse of some colonies.
5.  What explanation is given by Jerry Hayes to the phenomenon?
A) Farmers apply certain chemicals to kill unwanted bees.
B)The insecticide destroys the honeybee’s nervous system.
C)The insecticide affects the honeybee’s memory.
D) All of the above.
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13. ‘Hidden’ Species May Be Surprisingly Common (A Z&)
(B ¥ 2007 4E A 3 TR 3@ 58 0+ )\ & Shrinking Water Supply Poses Threat

to Peace)



MADE BY BOBEER QQ:45964033

Cryptic species — animals that appear identical but are genetically quite distant — may be
much more widespread than previously thought. The findings could have major implications in
areas ranging from biodiversity estimates and wildlife management, to our understanding of
infectious diseases and evolution.

Reports of cryptic species have increased dramatically over the past two decades with the
advent of relatively inexpensive DNA sequencing technology. Markus Pfenninger and Klaus
Schwenk, of the Goethe-Universitat in Frankfurt', Germany, analyzed all known data on cryptic
animal species and discovered that they are found in equal proportions throughout all major
branches of the animal kingdom and occur in equal numbers in all biogeographical regions.

Scientists had previously speculated that cryptic species were predominantly found in insects
and reptiles, and were more likely to occur in tropical rather than temperate regions. “Species that
are seemingly widespread and abundant could in reality be many different cryptic species that
have low populations and are highly endangered,” says Pfenninger. Until the genetic information
of all species in at least one taxon is thoroughly studied, no one will know just how many cryptic
species exist. “ It could be as high as 30%,” Pfenninger says.

“I'm extremely surprised by their results,” says Alex Smith of the University of Guelph®in
Ontario®, Canada. “It’s a call to arms to keep doing the broad kind of genetic studies that we are
doing.”

Sampling as many individuals as possible, scientists hope to complete work on all fish and
birds in another 5 to 10 years. Once either of these taxonomic groups is completed, Pfenninger
says researchers will able to decide how many cryptic species exist throughout the animal
kingdom.

Examples of cryptic species include the African elephant. A 2001 study found the elephants
were actually two genetically distinct, non-interbreeding species, the African bush elephant and
the African elephant. The species are currently listed as vulnerable and threatened, respectively, by
the World Conservation Union (WCU)*,

The reclassifications are more than an academic exercise. They define populations that have
evolved independently of each other and whose genetic differences can have significant
consequences.

In the early 1900s misidentification of mosquito species based on morphology confused
attempts to control malaria in Europe. Ultimately, what was thought to be a single species was
actually made up of six sibling species, only three of which transmitted the disease. “The basic
unit in biology is always the species, and you have to know what you are dealing with,”
Pfenninger says. Much previous research is now no longer used, he says, because it is not clear
what species was being studied. (428 words)

AL
cryptic adj. FBaillcity; Besk)
taxonn.  CZEWI) HEIC
biodiversity n. =4 % FEE
taxonomic adj. 7335 (%%) [
DNAnN. i 8% (deoxyribonucleic acid 11455 )
non-interbreeding adj. 244 &4l
biogeographical adj. =4/ B 2 1)
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morphology n. A%
malaria n. ¥k

reptile n. T€1Tzh4

sibling n. [Afig, )&
temperate adj. (“{f%) AT

pay s 3

1. the Goethe-Universitat in Frankfurt: 7[5 7% == 5 46 K %%, I Johann Wolfgang
Goethe-Universitat Frankfurt am Main , 7.3 PEURH S8 B P 9] Y S b 925 24 v 4

2. the University of Guelph: /R K K%, KA T 1964 4F, &— AL gE GRS,
f£ 2005 FEINERLEA R REEVPLLH, FIRFRKFELIIN 3 4, eNERKEEXL
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3. Ontario: %KW, MNERP AR —D4E .

4. the World Conservation Union: 15t AR R . Bk K. B E1 3R RY 241
f,  EEET 82 ANEK. 1L ABUNH. 800 ZAEBUNAIZIL SR H 181 AME K
M) 1 )] 2 4R FAER, T AR — E = kA E R R

%3]
1.  Which of the following about the significance of the research on cryptic species is NOT true?
A) The results of the research can help the development of many other research areas.
B) The results of the research can help the development of biodiversity estimates.
C) The results of the research can help our understanding of infectious disease evolution.
D) The results of the research can help our understanding of “survival of the fittest.”
2. What was scientists’ understanding of cryptic species?
A) They occurred in equal numbers in all biogeographical regions.
B) They were mostly found in insects and reptiles.
C) They were likely to be in tropical rather than temperate regions.
D) Both B and C.
3. Do scientists know how many cryptic species exist?
A) Not yet.
B) Yes, they do.
C) They will know the answer in another one or two years.
D) They will never know the answer.
4.  Which of the following about the African bush elephant and the African elephant is true?
A) The WCU are interbreeding those elephants.
B) They are interbreeding species.
C) They are two genetically distant species.
D) They depend on each other for survival.
5. People were confused in their attempts to control malaria in Europe in the early 1900s,
because scientists
A) identified only one mosquito species instead of six species.
B) thought only three mosquito species transmitted disease.
C) thought there was only one mosquito species.
D) did not know what species was being studied.
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14. Why Humans Walk On Two Legs (A £&)

(B 2007 4F A F53E TR @28 U+ S Retinal Prosthesis Helps the Blind Regain
Eyesight)

A team of scientists that studied chimpanzees trained to use treadmills has gathered new evidence
suggesting that our earliest apelike ancestors started walking on two legs because it required
less energy than getting around on all fours.

"When our earliest ancestors started walking on two legs, they took the first steps toward
becoming human," said lead researcher Michael Sockol of UC Davisl. "Our findings help
answer why." Sockol worked for two years to find an animal trainer willing to coax adult
chimps to walk on two legs and to "knucklewalk" on all fours on the sort of treadmill found
in most gyms.

The five chimps also wore face masks used to help the researchers measure oxygen consumption.
While the chimps worked out, the scientists collected metabolic and other data that allowed
them to calculate which method of locomotion used less energy and why. The team gathered
the same information for four adult humans walking on a treadmill.

The researchers found that human walking used about 75 percent less energy and burned 75
percent fewer calories than quadrupedal and bipedal2 walking in chimpanzees. They also
found that for some but not all of the chimps, walking on two legs was no more costly than
knucklewalking.

"We were prepared to find that all of the chimps used more energy walking on two legs - but that
finding wouldn't have been as interesting," Sockol said. "What we found was much more
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telling. For three chimps, bipedalism3 was more expensive, but for the other two chimps, this
wasn't the case. One spent about the same energy walking on two legs as on four. The other
used less energy walking upright." These two chimps had different gaits and anatomy than
their knucklewalking peers.

Taken together, the findings provide support for the hypothesis that anatomical differences
affecting gait existed among our earliest apelike ancestors, and that these differences
provided the genetic variation which natural selection could act on when changes in the
environment gave bipeds an advantage over quadrupeds.

Fossil and molecular evidence suggests the earliest ancestors of the human family lived in forested
areas in equatorial Africa in the late Miocene era some 8 to 10 million years ago, when
changes in climate may have increased in distance between food patches. That would have
forced our earliest ancestors to travel longer distances on the ground and favored those who
could cover more ground using less energy.

"This isn't the complete answer," Sockol said. "But it's a good piece of a puzzle humans have
always wondered about: How and why did we become human? And why do we alone walk
on two legs?" (435 words)

AL

chimpanzee n. %% (XAE chimp)
calorien. £ (HH), /M F

biped n — /£51#)

treadmill n. B&%E; B4, B TAE
gaitn. 23, Bk

coax v. Mt, M3y

anatomic adj. fi#i] (2%
knucklewalk v. JH 215 %
quadruped n. P45

metabolic adj. CHrRR) AR
Miocene n.& adj. * it (D
locomotion n. &3l (J1)

R

1. UC Davis : JIN A4 W 7342 . UC /& University of California (4 /& K 2%) (45
5, ERAZA 9, UC Davis s 41—, Davis LU /& UC Berkeley 7315 (14 2 Bie
JE R K . Davis s — N KL, RNk, Davis & FE B A A BT IX ANk o

2. quadrupedal and bipedal: quad-: #JiiaZ, &"PU"HEE: bi- iRz, &R
B oped-: MR, EUHUTIRE; -al RMBUBR WG, Font. . B,
quadrupedal = 4" VU2 ZH", bipedal Z " 2",

3. bipedalism: Z bipedal (s XN 41, 1K BG4 -ism KR "FIE" . "REPE,

%

1. What did Michael Sockol and his team find out in their study of chimpanzees?
A) The evidence why chimpanzees can be trained to use treadmills.
B) The evidence why our apelike ancestors came to walk on four legs.
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C )The evidence why our apelike ancestors came to walk on two legs.
D) The evidence why chimpanzees can be trained to walk on two legs.
2. Which of the following best interprets the meaning of*While the chimps worked out, ...."(the
first sentence of the third paragraph)?
A) While the chimps worked in the lab....
B) While the chimps exercised in the gym....
C) While the chimps tried to figure out what they should do... .-
D) While the chimps tried to understand the instructions....
3. What was the result of the finding, according to Paragraph 5?
A) Three chimps used more energy walking on two legs.
B) One chimp used less energy walking on two legs.
C) One chimp used about the same energy walking on two legs as on four.
D) All of the above.
4. What was true of the hypothesis of the research?
A) Our apelike ancestors were anatomically different but had the same gaits.
B) Bipeds with natural selection had an advantage over quadruped.
C) Our apelike ancestors could adapt to different climate changes due to genetic variation.
D) Bipeds had an advantage over quadrupeds due to changes in the environment.
5. What does fossil and molecular evidence tell us about our earliest ancestors.
A) They experienced more climate changes than we do today.
B) Due to changes in climate, they were forced to travel between food patches.
C) They could cover more ground than their quadrupedal peers because they used less
energy.
D)They could travel longer distances on the ground than those who could use less energy.
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1. C  HICME—BEHEEIZ T XA .
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3. D EREBE = IUM HAERL T 2% bipedalism was more expensive [ B2

P EAT BT REE £ 4K RE . walking upright (RS BEALATE, BIPEATE.

SEANBE VT AT ME R : AR 2 E L P e =R, X —

ZEFRN T EATRP A R R ARG R R P g T 1A AR =, A6

HATAF T RATAE IR R DY AT E MR AN EAH L. A. C. D #AZ IEHIT 3

%, WA B EZBU Rl

5. C  {HHUCE BARML T B2 4. travel longer distances ))& Ebic g, X B # M
SRATERIENS ST Y247 E B AR . those who could cover more ground
using less energy 512 EICHERN A5 DY AT ERIR AL, ARBEIEAER /N IR 2
TN . AR B A R IERA UL

N
(o9)



MADE BY BOBEER QQ:45964033

FtE
Time in the Animal World

Rhythm controls everything in Nature. 1

The sun provides a basic time rhythm for all living creatures including humans. Nearly all
animals are influenced by sun cycles and have developed a biological clock in their bodies
following these cycles. The moon also exerts its force and influence on the sea. Its gravitational
attraction causes the rising of the tide. __ 2 . When the moon is behind the Earth, centrifugal
force causes the second tide of the day.

Animals living in tidal areas must have the instinct of predicting these changes, to avoid
being stranded and dying of dehydration. Since the time of the dinosaurs, the king crab has been
laying eggs® at the seaside in a set way®. To avoid predator fish®, the eggs are always far from
seawater and protected by sand. In the following two months, the eggs undergo dramatic changes
related to the cycles of the moon*. When the second spring tide comes, the young king crabs have
matured. ___ 3

Most of the mammals, either the giant elephant or the small shrew, have the same average
total number of heartbeat in their lifetime. Shrews live only for two and a half years, and spend
their life at a high speed and high tempo. Animals like shrews with a pulse rate of 600 per minute
have an average total of eight hundred million heartbeats® throughout their life. The African
elephant has a pulse rate of 25 beats per minute, and a life span® of 60 years. The size of the body
determines the speed of life. 4

As we get older, our sense of time is being influenced by the physiological changes of our
body. The elderly spend more time resting, and do few sports. 5 . For a child, a week is seen
as a long time.

A
rhythm n. 7%
king crab n. %
slap v. i
predator n. BRI
exert v. JEiN
shrew n. i
gravitational adj. = H1EHIT
tempo n. g, ME
centrifugal adj. B5LrJiff
pulse n. Jki#
strand v. ffif#7k
span n. BE
dehydration n. 7K
physiological adj. AF
dinosaur n. ZLJE

Va2
1. laying eggs: ;7O
2. in a set way: PA—Fp[EH K H
3. predator fish: P
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undergo dramatic changes related to the cycles of the moon: &%2%5 H=R
WIH XM E KT, related to the cycles of the moon J&id 2243 iE, 1E)5
B E W, 181 changes.

eight hundred million heartbeats: 8 4Z#K:.ak

life span: —*=

For an adult, time goes fast year by year.

It controls, for example, the flapping of birds’ wings, the beating of the
heart and the rising and setting of the sun.

The larger the animal is, the longer its life span is and the slower its
life tempo is

The tide goes out when the moon moves away and its attraction is weaker.
We always tend to think all the animals have the same sense of time as human
beings.

The second spring tide takes them back to the sea.

fi#t:

B "# 1" RilAA) T "Rhythm controls everything in Nature" &3 fif), "4% 1"
()7 W % R U A] A4, 30 B "It controls, for example, the flapping of
birds' wings, the beating of the heart and the rising and setting of the sun"Jg& 3= @i ] {41l
fift o controls &AM RN IER T B, I TN ARIEST . rbh, B B .
D A 2"RUTR AL, H S KU N R, JCH R 3 k. s
2" JE IR0 RO ik o T RAHENT, AL TR AN TR 2 N A %
BRI A . I D WA SRR . MRS E.

Fooos = Bed B AEKAEWMI W X 1) h P B A Foilsl % (A e . SR J5 2 King crab 4
Bl #E AN, PR IEY N, Db aRaE . B SRR IR,
N O e . e 3TN IEA T AME? LI FOHIL second spring, iXiEb E—
BRRIE S . HENE, e —EENARKE. F 25,
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Virtual Driver

Driving involves sharp eyes and keen ears, analyzing with a brain, and coordination
between hands, feet and brain. A man has sharp eyes and keen ears, analyzes through his brain,
and maintains coordination between his hands and brains. He can control a fast-moving car with
different parts of his body. 1 . Apparently there isn’t anyone in the driver’s cab, but there is
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in fact a virtual driver®. This virtual driver has eyes, brains, hands and feet too. The minicameras
on each side of the car are its eyes and are responsible for observing the road conditions ahead of
it as well as the traffic to its left and right. If you open the boot, you can see the most important
part of the automatic driving system: a built-in computer. 2 . The brain is responsible for
calculating the speeds objects surrounding the car are moving at?, analyzing their position on the
road, choosing the right path, and giving orders to the wheel and the control system.

In comparison with the human brain, the virtual driver’s best advantage is that it reacts
quickly. 3 . Howeuver, it takes the world’s best racecar driver at least one second to react,
and this doesn’t include the time he needs to take action.

With its rapid reaction and accurate control, the virtual driver can reduce the accident rate
on expressways considerably. In this case, is it possible for us to let it have the wheel® at any time
andinany place? 4 . With its limited ability to recognize things, the car can now only travel
on expressways.

The intelligent car determines its direction by the clear lines that mark the lanes clearly and
recognizes vehicles according to their regular shapes. 5 . This being the case*, people still
have high hopes about driverless cars, and think highly intelligent cars are what the cars of the
future should be like®.

AL
virtual adj. FEH#IK
built-in adj. AR
coordination n. Phifl, ML&
racecar n. FE4
cab n. ZUpE
expressway n. reridioN B
minicamera n. /NAIEEAHAL
driverless adj. T4 R M
boot n. (ZEHJGHEI) T4

1. virtual driver: FEFL25 5 51

2. The brain is responsible for calculating the speeds objects surrounding the car are
moving at: KM 61 StV B AR S0EE . The brain is responsible for
calculating the speeds objects surrounding the car are moving at = The brain is
responsible for calculating the speeds at which objects surrounding the car are moving

3. have the wheel: 3754

4. This being the case: HARTEILEIXFE,  This being the case A&7 731 40 1%
5. highly intelligent cars are what the cars of the future should be like: KV 1%
R R R YA
252
A. Experts say that we cannot do that just yet.
B. In thenear future, intelligent carswill be put into commercial operation.
C. This is the brain of the car.
D. But how does an intelligent car control itself?
E. It completes the processing of the images sent by the cameras within 100

milliseconds
F. However, it cannot recognize moving people and bicycles on ordinary roads
that have no clear markings on them.
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The Arctic Ice is Thawing

Father Christmas may have to move his “workshop™” from the North Pole because global
warming is thawing the ice beneath his feet and his reindeers' feet as well. His “workshop” is in
dire straits. The “platform” for the “workshop” is melting, said Stefan Norris of the World Wildlife
Fund environmental group's Arctic Program.

An eight-nation report by 250 scientists published recently predicted the Arctic Ocean
could be ice-free in summer by 2100 because of a build-up of heat-trapping gases® in the
atmosphere, mainly from burning fossil fuels in cars or factories. The North Pole is getting more
and more inhabitable to Father Christmas. 1 . Young people learn that Father Christmas'
“workshop” produces millions of gifts delivered by him on a flying, reindeer-drawn sleigh.
Hollywood movies like "The Polar Express®" tried to make viewers believe that Father Christmas
lives at the North Pole. 2

The "Fortress of Solitude" is near the North Pole that could be under threat in a warmer
world®. Alan Boldt, spokesman of the Danish Ministry of Science, suggested ways to rescue
Father Christmas. 3 . Another alternative, he argued, would be building some electrical
facilities to ensure the ice stays on the North Pole for him. "This should be a subject for the United
Nations,” he said. “Danmark could build windmills to provide Father Christmas with power.”
Denmark says Father Christmas’s real home is Greenland, which will help, Denmark thinks, to
strengthen its position in claiming the sovereignty over the Pole. 4
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"Doesn't he already speak Danish?" Boldt said frostily when asked if Father Christmas
would be forced to learn Danish if Denmark won international recognition of its claim to the Pole.
Last month's Arctic report said the region is warming twice as fast as the rest of the globe, partly
because dark ground or water, once uncovered, soaks up more heat than ice or snow. Finland has
been most favored by Father Christmas and it has about 500,000 tourists a year to visit its
Christmas center in Rovaniemi in Lapland®. 5

WL

thaw v. flifk, fifik
Nordic adj. JbNKI1
reindeer n. Yl

rinkn. GGEUK) 3%
dire adj. "M
Danish adj. J}Z
build-up n. 55, H4
Danmark n. J}5

sleighn. 1%
sovereignty n. AL
Hollywood n. %733
frostily adv. ¥4t
Greenland n. #%[% >~
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workshop: T3, SEUEMCEL, SEUEE NARRAFEEUETT [n) At 5 LI E ALY . ALY
AT T ). T, M, X2 NMEEIe, ks E—eda—4
HEALAI T,

heat-trapping gases: Jli#i#uiE 114k, heat-trapping gases = greenhouse gases

The Polar Express: ARt %: (UM 42D

Nordic countries: JtERE K. JLRRE KRR ==, Bidl. #Og. FHE KBS .
The "Fortress of Solitude™ near the North Pole that could be under threat in a warmer
world:  "JIBhEEFE SRR, FEASBR I Firh e T a2 H . that 51T E
B M AJEMH Fortress of Solitude.

Rovaniemi in Lapland: 7 F-H73% % 1u[X ) Rovaniemi (¥'FLEK). Rovaniemi /&
R A TN, AW AR ROC IR . TN EE AR (Christmas
Park). FFAE2EHETT, #mdE . Rovaniemi #FR AW L,

However, Nordic nations all reject it by claiming that their countries are
his home.

Therefore the North Pole is the most attractive place in the world.

If Denmark’ s claim were accepted internationally, it would have the legal
right to search for oil and gas at the North Pole

One of them would be building a giant floating ice rink for the workshop
if the Pole thaws.

Maybe Father Christmas has already moved to Rovaniemi.

He may have to move from the North Pole within our children’s lifetimes
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Biological Identification Technologies

When a person walks, the movement of his head, trunk, hipbones and limbs are all reflected
in changes in his body. A computer 1 these changes into a database. Later, the computers
can 2 identify him according to these changes. This is a new biological identification
method and it can quickly identify an examinee 3 disturbing him. It's especially suitable
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for use in airports and supermarkets.

Everybody's voice is 4 . When a person's voice is recorded by an instrument, its
voice frequency spectrum is called his sound print. Like a fingerprint, everybody's sound print is
different. How can computers 5 his sound? First, his voice is recorded, which allows the

computers to become familiar with his voice. It will then turn his sound characteristics into a
6 of digits. These digits represent the frequency, pitch and rhythm of the person’s voice.
These are the 7 on which the computers can distinguish® his voice from 8 .

When that person needs to be identified, after he says only one word or two, the computers
can identify him. The computers can even identify sounds coming 9  the wires. This will
provide a 10 guarantee to electric banks and electric purchases.

We often bring 1D cards?, work cards, or driver licenses with us to prove our identity. If all
these cards are forgotten or lost, how can we prove 11 we are? In fact, it's not difficult to
prove whom you are, because your body 12 has identifying markers. Some are
physiological features, such as fingerprints, sounds, facial types and eye color. The computer can
help to identify you. Suppose your features have already been stored in the database®. To identify

you, we have to take your picture with a camera and send it to a computer for 13 . First,
the computer needs to reposition this picture according to the position of your eyes®, and then
starts to read the_message of your physiological features such as the 14 of your pupil® to

the whites of your eyes® and the shape of his nose. Next, it seeks matching records from the
database. Finally, it makes a 15 )

AL
hipbone n. &E
pitch n. &5
limb n. Ak
license n. H#
database n. ##l/%
fingerprint n. 84l
spectrum n. AW
reposition v. pAR---fiE
digit n. %4, H+

TR

1. (basis) on which the computers can distinguish: FEiXIERE E, HRFEX
VARIIEEE . BV A AR R 2¢ 2405 which 51 S 21 M A), &4 basis.

2. ID cards: HfilF. ID = identity

3. Suppose your features have already been stored in the database: {REMRK]
LS FEERBZER . Suppose your features have already been stored in
the database A PAEEf# 4 Let us suppose your features have already been
stored in the database.

4. reposition this picture according to the position of your eyes: FZHEIRAY
HIR F 117 i 0 U S L 1 o S

5. pupil: HEFL

6. whites of your eyes: RIVIRKE IR A

%3

1. A) checks B) stores C) revises D) modifies
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2. A) nearly B) approximately C) roughly D) accurately
3. A) without B) with C) for D) in

4, A) identical B) similar C) unique D) sole

5. A) hear B) understand C) distinguish D) record

6. A) series B) package C) line D) pair

7. A) origin B) cause C) reason D) basis

8. A) other’s B) another’s C) each other’s D) one another’s
9. A) at B) on C)in D) through

10.  A)cleverer B) tidier C) smarter D) safer

11.  A) how B) whom C) what D) where

12.  A) oneself B) themselves C) itself D) himself

13.  A) processing B) copying C) coloring D) revising
14.  A)size B) type C) ratio D) shape

15.  A)recommendation B) decision C) proposal D) contribution
ER 5.

L. B BRSO R, 1E 5 300 R AT TR AR SR AR TR AR AL R TR . A7 A1)
PEIR L store, FTUAEERE B. check ( ¥ ). revise (BIE) Ml modify (&
dO 5 BT SRR EEEA b

2. D IEI A M nearly CR5E4THL). LI B /) approximately CIEfblith). %
T C 1) roughly CHERSH)  #EAFTHE L MG PRIE . AERA PR REER SRR, M HL
A HAASHEANME. HAE D (accurately #EffiHh) A 7525,

3.0 A HTHNAY UK IUH ARV RN ER, B E Ul XU IE S L
WA . DUHEe, XEANFER. GEHFANT XA LS (without
disturbing) HHHANKIELRA RAFHOR . LI A B E S

4. C  HRMKEERZBHFAN A RReE, 8 NI S A HRe A — k. B
PL, &0 C B unique CHE—)) KBt TaxAMEH, PrLlE%%.

5. C  ABGTHEILAZ BN AELUSREr—E, nTLURRHEAN o J5 1 LA) /2 i
WA A SOAN o BT EUE N5 57 (1] — 2 C 1Y) distinguish. HE =
AMEBE AR, o NG TG, B JE ) A #AN 2 (B “How can
computers hear/understand/record his sound?”iX4&a] /i),

6. A {EA)T “Ttwill then turn his sound characteristics into a ? of
digits” CHRJi FHLINAE A IR 75 o AR ik S 48 Ay ? MEAS) o, AT
67 LA S TPGE P i . AHPUAES, A a series of digits (—
RYNES) HE&1E. a package of (—#6H7). a line of (—4TH]). a pair of
(XD L digits #IAEMNL.

7. D MR ESrHT, EDU D [ basis REAIEM. MWH basis S5 on i
Bl, 4% on this basis (FERCEERNE Do JLE =ANEIIAN S B F3CrE S
ANED, MHYS on WA,

8. B T SPERIA TN EEE, FUI AR SRR S S A X A TR
LT D ) another’ s. each other’ s (UL F ) F1 one another’ s (fff
W) BHEAX. other’ s WAXS, WHREH, ML others’.

9. D PR AR, HIE B % TR i F 2 AR R 1 5 . through
LS. e, D 2EE.

10. D A A 01 SR B B i HEBR VL o W R IE M cleverer/tidier/smarter 15
guarantee ¥, =B A AP, HAY safer guarantee (HZLMIEM) Ho
B,

11. B HINESERI 2 BATE HE, BT S0y, A GEH whom we are. B &%
%o

12. C  body HfCIEZE it, RBACEZE itself. f) F AR EAIEVEAARE K H I 1%

i, Bl itself.C E&Z%E,
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13. A 7 137 A R R A NG T Z Ak (first, then, next,
finally). BRIA"AEBL"IXZ MK SiE 2 processing. A 2% 5.
14. C #H size. type B{ shape #A4T. WHH T, “your pupil to the whites
of your eyes”f] to BtE size. type BY shape AN#EEE. HAWE ratio, =
B EREEE FARS . ratio FIFVER: ratio of+:to:+s
15. B WU IARI S R — e B a5, NS ML . Brbl, proposal,
recommendation AL EE S, contribution (TaERk) MWEELS EFMXEALE. T,
HA LB 1) decision A 2%E%.

Bt=8

Debate over the use of Renewable energy

Ausubel of Rockefeller University in New York, US. says the key renewable energy sources,
including sun, wind and biofuels, would all require vast 1 of land if developed up to
large scale production® — unlike nuclear power. That land would be far better left alone?, he says.
Renewables look attractive when they are quite 2 . But if we start producing renewable
energy on a large scale, the fallout is going to be horrible. Instead, Ausubel argues 3
renewed development of nuclear.

Ausubel draws his conclusions by analysing the amount of energy renewables, natural gas
and nuclear can produce in terms of power per square metre of land used®. Moreover, he claims
that as renewable energy use increases, this measure of efficiency” will 4 as the best land
for wind, biofuels, and solar power gets used up.

Using biofuels to obtain the 5 amount of energy as a 1000 megawatt nuclear power
plant would require 2500 square kilometres of farm 6 , Ausubel says. "We should be
sparing land for nature®, not using it as pasture for cars and trucks," he adds.

Solar power is much more efficient than biofuel in terms of the area of land 7 , but
it would still require 150 square kilometres of photovoltaic cells to 8 the energy
production of the 1000 MW nuclear plant. In another example, he says meeting the 2005 US
electricity demand via wind power alone would need 780,000 square kilometres, an area the size
of Texas.

However, several experts are highly critical 9 Ausubel’s conclusions. John Turner
of the US government’s National Renewable Energy Laboratory says that 10 the US got
all of its power from solar energy, it would still need less than half the amount of land that has
been paved over for highways. Further, it need not 11 additional land. The US could get
a quarter of its energy just from covering rooftops of 12 buildings, he says.

According to Turner, the same "dual use" also applies to wind power®. "The footprint for

wind’ is only 5% of the land that it 13 . Farmers can still farm the land that the turbines
are on®. Turner says looking solely at land use is an oversimplification of the 14 IP’m
not sure 1I’d want to build one of these nuclear plants in Afghanistan®, but we could 15

put in wind and solar power," he adds.

AL

Renewable adj. nJ 4 n. 0] TR
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R

photovoltaic adj. YGHLI
rooftop n. &I

biofuel n ‘EWREL

footprint n. AL, FSMHX I
fallout n. &%, 45

turbine n. JRFHL

megawatt n. JEEC

pasture n. 37, Hh
oversimplification n. i ffjHik

if developed up to large scale production: HIRIFARIAZ| KA AIFEE ., if
developed up to large scale production = if (the key renewable energy
sources were) developed up to large scale production

That land would be far better left alone: {fFHA— F Mg bhfdi H e AUt
(be) left alone ="Mz " W=EE. .

Leave him alone. He can solve the problem himself.

(ANZEFTHiAM. Ath H OO B O

Ausubel draws his conclusions by analysing the amount of energy renewables,
natural gas and nuclear can produce in terms of power per square metre of
land used: Ausubel H&FFJ5 A R &G =AM RER 1 AR IX—T77, Xl A
REUE . RARAAZ T R Z D RERE AT /08, ATAS AR 4518 . (that)
renewables, natural gas and nuclear can produce in terms of power per square
metre of land used ;& EIEMA], &4 the amount of energy, F=Z&zfiA that
Hhg. in terms of & "ZM, K" -

We cannot measure everything in term of money.

(FATIARE ] Sk A —F i)

this measure of efficiency: IXFPRZEMIMH. measure XHLIR"{HAIK/N.

We should be sparing land for nature: FAINiZKF HHLFAZS HAR. spare &7
o, HE”.

Call him and you will spare a visit.

TS, A15 H O )

the same “dual use” also applies to wind power: [FIFERI”XNEAFH -H#”
TRk

The footprint for wind: K JJA&HHHPLHL. footprint FEIGHE S50
X7 wind SERR BARIE" KT KH”.

Farmers can still farm the land that the turbines are on: RERLERFHLL
A EASR T LLBEFE . Farmers can still farm the land that the turbines
are on = Farmers can still farm the land on which the turbines are

I’m not sure I’d want to build one of these nuclear plants in Afghanistan:
BTHEA T B EARAE P AL DNXFE L) X — MR il R IA
Ji (understatement), FLICIFZERIAME L : AT & T — M IXFE
i Z3E2Y

953

1. A) figures B) amounts C) numbers D) digits

2. A) small B) huge C) little D) vast

3. A) at B) over C) for D) against
4. A) expand B) minimize C) enlarge D) decrease
5. A) same B) similar C) alike D) identical
6. A) region B) site C) area D) land



MADE BY BOBEER QQ:45964033

7.
8.
9.
10.
11.
12.
13.
14.
15.

A) leased

A) patch
A)in

A) even if
A) lock up
A) towering
A) surrounds
A) issue

A) doubtfully

BEREE-

B) cultivated
B) match

B) with

B) only if

B) take up

B) interesting
B) contains
B) stuff

B) supposedly

C) used

C) catch

C) of

C) what if

C) give up

C) nice-looking
C) includes

C) summary

C) certainly

D) purchased
D) fetch

D) on

D) as if

D) step up

D) existing
D) covers

D) suggestion
D) honestly

1.

2.

10.

11.

12.

B HARDUANIETIIE  (figures #%, amounts (&, numbers $(H, digits %}
) #ESE AN, 1E ofland Z AT, ZH amounts.B %K.

A 1E "Renewables look attractive when they are quite ? . But if we start
producing renewable energy on a large scale, the fallout is going to be horrible"iX P4~
) FZ0E), AAER But, BN TR R . 5 d SRR T K
AR AR, FOR R AA . BEAR ORI RIEY, T RN S AR ] Y
ZHZ AR T A S small, [EFFAER, A BREE.

C  Ausubel fAFERMAFEIT KAl fHAERENE . "% 3" B nuclear, 7] L4534
WIS, XA I REYR . BTLAELE C 1 forargue by  GHEIL--- T4 8)
argue over  Cighe-----#E4T4+8) |, argue against (LU #AKES 0K

=z
=1

D " 4"HiT—A i, Ausubel XTI FRAERENE. R R RS I
b R R LOAEAE— B " AN R A, BEE R R AR K
PR R B i A P o PR e 1) 028 i F 5, XA RO B 2 RAEAT A28k Wig 2
M gets used up 43T, BCRLLAENIZAS /AR, FrLAERE D [ decrease.minimize
i /MED) AFFE BT S0 E .
A AT IREEANE AR E A, I U B IS IE T A 1) same.same---as
AL, AN same ZJ5, AT EER R T, M. HAEYR K25 1000
JRPCAZHL) AHIF B R TG 22 2500 ~F 5 2 HLFIHFHh
D HISCUHAIRCR LA ZLL land As, FrLLX)LEE A 9 land.
C "F TN THELE: % ? R, ORBHBEMIRCR L AEIA
RIS R mE %2 BOGESEARIEE C 1 used Hog =ANETN leased  (FAE).
cultivated (¥FFf). purchased (KD FRAFFA L F SR,
B AMEHAEE B ) match CHIUCAD), g =AM, B patch (M%), catch
CH#E). fetch (HR)  FUEY match &%, ZEE ETFORIGH.
C critical #3KJ54% of.C &%,
A John Turner &%) Ausubel FITHE TV " 10"BTAE I A) 7404, the
US got all of its power from solar energy 1 i% & — ANk RiEMA), & A 1 even if
SN, BEAh, only if (AN BRAE). whatif (Wi B ATp). asif (i
) WEEES LI SEA L, R TR A RIEMK.
ABHGEE B 1 takeup CHHD, BUMA E takeup &, BRI EUIE
T HeE=AEm, B lockup (B ED. giveup EF). stepup () Y
B F R SCARIEHL .

" 12U PR A TR E S SR EU ? RPEIRETI CRRLT)
KBARE R e B2 EE . MREBIET MM ER:, & D

(o8]

-
A
=
=
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13.

14.

15.

existing 57 G il .

D  ARBH—HMT "dual use". 2 At XU A L B B CRHBEER
—ANHIED . AU A R ML SRR T U R CRHB SR AN
). A 13 EIH A N 1%L D ) covers (FH ). the land that it (F51X wind)
covers, oA "Iy LT A5 1) b

A an oversimplification of the ? s FUFERAT AL R AE? M ETRSC
Fry WAZESN P e ) R A, R A [ issue (I IER& LR
R . stuff (BB . summary  (R45). suggestion  (EEI)  ERANK) .

C " 15 A ) BT A AN S AR T dE A s, EE A but R4,
YL HT A RS A A R . BT I'm not sure, JEREAJH & C
certainly, 55 notsure MR, EREHT.
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